PP -(460=3 WY W »e40AISY YSE=3n=3nasAlasy 581,049.7
“3ACYNO1 | E&dUpNO1 U36N01 | Gf»YELCA " -ART31CA USAUCYY»A, &» 1 3T3Y 13631340l 7,402.6
1. T&AT32CA GRESYAGAISY, &» wST3Y TS3€3T3AUSY N3YASA» rST3Y " wSASTUSCY T3¢3130SY 7,402.6
USAUCYY»AC &3NA3YAIU (YSES3ASAY»AC SREST3T3KU»AC USear)
7281.2a820g0°8 2,893.6
09132100-1 | p»Y¥%CY, &f»UCasU pD ECHf 340.0 8,285.3 2,817.0
30232280-1 | TaRW 6T3T3631Y»AC 1AZ|T»AY»A “A=2p N3 30,900.0 1.0 30.9
39831100-1 | ET=640 YiasA»A “A=2p ECHf 650.0 70.3 457
@=2é lll. 12&20asAlasuues 4,509.0
50111130-1 | STWAU»U»Y3Y»fiC I»ASYana- U3y pD LA3U 400,000.0 1.0 400.0
=3¢3(a0AlasyY»ii
50111180-1 | 3TWAU»U»YSY»fC ET=6U3Y pD LA3U 350,000.0 1.0 350.0
YUSYSTCA 1363(a0Ala5YY»Hi
64211110-1 | W»03ICY N»e3E483ICY 1=63(40Ala5YY»h “A=2p LA3U 1,025,700.0 1.0 1,025.7
65111100-1 | EU»tad ¢fiC pSRE&U “A=2p LA3U 34,800.0 1.0 348
65311100-1 | (B>THASTSYAAISY p=3REAGU “A=2p LA3U 1,078,500.0 1.0 1,078.5
66511170-1 | ~AE31ABUCCAOY»AC N> o TSATST “A=2p LA3U 120,000.0 1.0 120.0
=2a3(ai=-A3T3Y 126340AlaYY»h
79111200-1 | Y»AI3|3640633T3Y 1363(40Ala5YY»h “A=2p LA3U 1,500,000.0 1.0 1,500.0
“3ACYNO4 | E&dUpN 02 L36N01 | Tias03 Y a»easAlasy 573,647.1
1. Y&AT32CA GRESYAGAISY, &» wST3Y TS€3T3AU3Y N3VASa» wST3Y " wSASTuSeY T3¢3130SY 32,166.1
USAUCYY»AC &3NA3Y4AIU (YSE3AZhaAlasYV»AC SRE3T3T3%U»AC USear)
7281.2a820g0°8 11,624.4
09132200-1 | p»Y¥%GY, é» - &6El=h pD ECHf 320.0 18,254.4 5,841.4
24911400-1 |&4&CY0 “A=2p N3 150.0 100.0 15.0
30121460-1 | WAY»A3(CY USAWACCY»A pD N=r 3,500.0 60.0 210.0
30121460-2 | WAY»A3CY USAWACCY»A pD N=r 3,300.0 20.0 66.0
30121460-3 | WAY»A3(CY USAWACCY»A pD N=r 4,000.0 8.0 32.0
30121460-4 | WAY»A3(CY USAWACCY»A pD N=r 5,500.0 12.0 66.0
30121460-5 | WAY»A3(CY USAWACCY»A pD N=r 5,000.0 4.0 20.0
30121460-6 | WAY»A3(CY USAWACCY»A pD N3 15,000.0 5.0 75.0
30121460-7 | WAY»A3(CY USAWACCY»A pD N3 5,000.0 5.0 25.0
30192121-1 |-fiG4 - YACT3T4f bb = 50.0 500.0 25.0
30197100-1 | T3ACAC U»r303t3fi» T38»1 pD N3 100.0 52.0 52
30197231-1 | AOA=A3V=T, AatCU»AS3ICY A303YA, y3it pD N3 10.0 1,000.0 10.0




TarA 2YT3Y4iUA mvusy as+03y BC3TARC -CYA 23Y3TA _ TaUshA -
oA UC=TanA (\=%=h 1ASVAT)
30197232-1 | ADA=&=3Y=T, =ii=-313h, ACAI= bb N=w 60.0 500.0 30.0
30197234-1 | ADA=&=3Y=T, Takw T3%UaT bb N=w 650.0 100.0 65.0
30197320-1 | T3CaY»h bb N=r 1,200.0 30.0 36.0
30197622-1 |A&s0A, A4 yafiU3w ¢ /21x29.7/ bD A+ 400.0 1,450.0 580.0
30197646-1 |A&i0A" A3 yaRU3WC /29,7x42/ bD N=T 3,000.0 5.0 15.0
30199232-1 | 1A3A, U»T, A4 07353+C N3U=A bD N=T 35.0 3,000.0 105.0
30232280-1 | TARW 6T3T3631Y»AC 1A3|T»AY»A “A=2p N=T 46,600.0 2.0 93.2
30234600-1 | yE»R NCRAOAGAIATYY»h “A=2p N=n 9,000.0 10.0 90.0
30237112-1 |&éYasou3Y peal “A=2p N=n 9,100.0 10.0 91.0
30237411-1 |UTYCT, N3U=T=3/-43(CY, E3hai “A=2p N=T 2,500.0 10.0 25.0
30237460-1 | N3U=ST=3d-43(CY 6 W»0Y3R3h»h “A=2p N=T 3,000.0 10.0 30.0
31431100-1 | T3A3ASAAT3ICY Tai w3TCaY»h “A=2p N=n 100,000.0 1.0 100.0
32411130-1 | N3U=63Y6 bD LA3U 838,100.0 1.0 838.1
34321290-1 |&» WN3USASYCRY»A bD N=7 3,500.0 700.0 2,450.0
34351200-1 | 3T WAU»U»Y3Y»AC SYCTY»fh bD N=T 125,000.0 4.0 500.0
39263200-1 | -i=&»YISTS(CY -G, USWI3Y, 70-200.¢, “A=2p N=7 500.0 20.0 10.0
Tal3Ye, 6ACT3T jorhaf
39263400-1 | 3UA=T “A=2p N=w 180.0 60.0 10.8
39831100-1 | ETr=640 YiasA»h “A=2p TCta-AsU 650.0 253.4 164.7
@=2é Il. 2pE2T20gU°s 220.0
45231118-1 | -3%C pSREU3Y 0A3Y13T SRE3T3YUY»A | “A2D LA3U 220,000.0 1.0 220.0
@=2é lll. 12&20asAlasuues 20,321.7
48441300-1 | SRT=43(=T3Y ASUST30-53(CY bD LA3U 1,500,000.0 1.0 1,500.0
173-A3ICY +~3A»AY»h
48761100-1 | =T=ichase=icy N=0=T3h.- 4300y “A=2p LAS3U 400,000.0 1.0 400.0
17=3-A3ICY ~3A»AY»f
50111130-1 | STWAU»U»Y3Y»iC T»A3Yana- U3y bD LA3U 692,600.0 1.0 692.6
=363(a0AlasYY»ii
50531200-1 | ¢ TWASTSY é3l»fiC, 630=Tanaily»ic | ~A2D LA3U 486,000.0 1.0 486.0
D»i3Yana- U3y - a3asvusy
=363(a0AlasYY»ii
64211110-1 | W»03ICY N»e¢3E483ICY 1=¢3(40Ala5YY»h “A=2p LASU 2,640,000.0 1.0 2,640.0
64211130-1 | ucc3ICY N»é3E4eY»AC 1=263(40Ala5YY»h bD LASU 700,000.0 1.0 700.0
64211310-1 | (BT WRAYSICY 48 C 13é63(40Al46YY »A “A=2p LASU 100,000.0 1.0 100.0
65111100-1 | EU»tad ¢fiC pSRE&dU “A=2p LASU 179,800.0 1.0 179.8
65211100-1 | -34%C u=RE4HU “A=2p LASU 3,044,700.0 1.0 3,044.7
65311100-1 | (B>THASTSYAAISY p=REAGU “A=2p LASU 7,853,500.0 1.0 7,853.5
66511170-1 | ~4E=31A30CcadY»AC N»o T3AT=1 “A=2p =0 240,000.0 1.0 240.0

3330ar=-AST3Y 1263(4Ala5YY»h




TarA 2YT3Y45UA mvusy as+=03y BC=T4MC -CYA Z3Y3TA _ TaUshA -
0°A UC=T4anA (\=%=n 1A=04T1)
70221100-1 | & pY=T»EC 3YR3AA -4dluC “A2p AU 168,000.0 1.0 168.0
1=3A03T3ta0AIBY T30 ECUCY - ¢
13¢3(40Ala0Y Y »fi
72261160-1 | 1i=-ASICY 3&3Nail=3Y e&=363Al1U3Y “A2p _A3U 240,000.0 1.0 240.0
13¢63(40Ala0Y Y »fi
72311250-1 | WilSEY»AC WASUSLAUSY 13¢340Ala6YY»A | “A=2D _A3U 200,000.0 1.0 200.0
72411500-1 | N=U=6=Y6=3(CY (¢»iC NagAGY - ¢ “A2p _A3U 30,000.0 1.0 30.0
13¢3(40Ala0Y Y »fi
79571100-1 | +4&W3ICY 3é30U3Y 1=3é63(AiAla0YY»fi “A2p _A3U 240,000.0 1.0 240.0
79821200-1 |3 &4C-ASYCST3Y SA31A3YUC “A2p _A3U 557,100.0 1.0 557.1
TA3-AUSY 13¢3a0AlaY
79991160-1 | SAECT30U3Y I3¢3[a0AlaoYY»i “A2p _A3U 500,000.0 1.0 500.0
92411100-1 |A»AA»ACY pBA3Yan1= - AUy “A2p _A3U 100,000.0 1.0 100.0
13¢63(40Ala0Y Y »fi
92421100-1 |A»fiA»fiail NSr=3n=AacAlasyyY»ic “A2p _A3U 450,000.0 1.0 450.0
TA3-AUSY 1=3¢3laAlaY
2. NMiai0=3 WY I »E3T3Y T»Y13YCY»AC A3 T T34l 456,733.5
@2e1.2882UgU0°d 456,733.5
24311270-1 | T346WCT 6413 =) TCE&- AU 350.0 2,000.0 700.0
24451140-1 | SEW3N3YC4 YiasArii bD Tcta-i=0 550.0 1,000.0 550.0
24451140-2 | SEW3N3YC4 YiaiA»ii bD Tcta-i=0 1,200.0 400.0 480.0
24451140-3 | SEW3N3YC4 YiaiA»ii bD Tcta-i=0 1,600.0 100.0 160.0
24451140-4 | SEW3N3YC4 YiaiA»ii bD Tcta-=0 299,969.0 1.0 300.0
24451160-1 |UEAR=TCA =) TCEa- AU 600.0 1,500.0 900.0
33121270-1 | BETanaRU3Y YlaoA»fi bD 14H= 8.0 914,960.0 7,319.7
33121270-2 | SETaRaRU3Y YiaoA»fi bD 14h= 75.9 5,000.0 379.5
33121270-3 | SETaRaRU3Y YlaoA»fi bD 14H= 50.0 21,681.0 1,084.1
33121270-4 | SETanaRU3Y YlaoA»fi bD N=T 108,623.0 15.0 1,629.3
33121270-5 | SETanaRU3Y YlaoA»fi bD N=T 78,000.0 10.0 780.0
33121270-6 | SETaRaRU3Y YlaiA»fi bD N=T 83,000.0 7.0 581.0
33651257-1 | 3Y=3eY3uatAasAl=Y U»c TCA=éT1a0 bD 14h= 150.0, 2,554,101.0 383,115.2
A3 T36T3Y(40A»A
33651257-2 | 3Y=3eY3uatAasAl=Y U»c TCA=éT1a0 bD 14H= 135  1,297,223.0 17,5125
A3 T36T3Y(4A»A
33651257-3 | 3Y=3eY3uatAasAl=Y U»c TCA=éTa0 bD 14h= 13.8 670,083.0 9,240.4
A3 W T36T3Y(40A»A
33651257-4 | 3Y=3eY3uaiAasAl=Y U»c TCA=éT1a0 bD 14H= 10.1/  2,600,000.0 26,182.0
A3 T36T3Y(4A»A
33651257-5 | 3Y=3eY3patAasAl=Y U»c TCA=éTa0 bD 14h= 24.3 239,500.0 5,819.9
A3 W T36T3Y(40A»A
3. ~able»ic &3RWASYaIAISY UCcad3¢aiUY»h 84,747.5




TatA

2Yi3YaUA

a=s+Usy

mosy ) ( @C=TaMic -CYA 2=Y=TA _ TaUSAA -
OA UC=TafA (N=%=h 1A3VAT)
g2e1.2a8620g0°8 27,9345
33691147-1 | AasY=3ViaiA»ii bD Tcta-i=0 8,200.0 3,406.7 27,934.5
@=2é lll. 12&20a6Alasuues 56,813.0
90921200-1 | TYSE3TAY»AC 1»0 A30SAC pD L A3U 56,813,000.0 1.0 56,813.0

13é3lasAlasyY»h




